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MAGNETIC EFFECTS OF CURRENT

Test Paper-lil

MAX MARKS: 30 TIME: 90Mts
SI.No. QUESTION ANSWER PAGE MARKS
1 Findthe Torque on a rectangular currentloop placedina uniform magneticfield. 3
Page:157
2 Define magneticmoment of the currentloop. Isita vectoror scalar? Page:158 2

3 A current carrying circularloopis free to turn, what isits orientation of stable

equilibrium? Show thatin this orientation, the flux of the total field is maximum. 2
Page:160

4 A loop of irregular shape carrying currentis located in an external magneticfield. If the

wireisflexible, why doesitchange toa circular shape? Page:160 1

5 What is the principle of working of Moving Coil Galvanometer? Page:164 1

6 With a neatlabelled diagram explain the working of a Moving Coil Galvanometer. 3
Page:164

7 What is the type of magneticfield used in Moving coil Galvanometer? Also give the 2
various uses of Moving coil galvanometer Page:164

8 How will you convertagalvanometerintoan Ammeter? Derive the expression to find 3
the resistance forthe same. Page:165

9 How will you convertagalvanometerinto aVoltmeter? Derive the expression to find
the resistance forthe same. Page:165 3
10  Definevoltage sensitivity of a Galvanometer. Give the factors on which the voltage
sensitivity depends on. Page:165 2
11  Define currentsensitivity of a Galvanometer. Give the factors on which the current 2
sensitivity depends on. Page:165
12 Inthecircuitshowninfigure the currentis tobe measured. Whatisthe value of the
currentif theammetershown (a) is a galvanometerwith aresistance Rg=60Q; (b) isa

galvanometerdescribedin (a) butconverted toanammeter by a shunt resistance

r,=0.02Q) ;(c) isan ideal ammeterwith zero resistance? Page:165
3
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13  Giveanytwodifferences betweenan Ammeteranda Voltmeter. A 100 turn closely
wound circular coil of radius 10cm carries a current of 3.2A (a) What is the magnetic
moment of this coil? The coil is placed in a vertical plane and isfree to rotate abouta
horizontal axis which coincides with its diameter. A uniform magneticfield of 2Tin the
horizontal direction exists such thatinitially the axis of the coil isinthe direction of the
field. The coil rotates through an angle of 90° underthe influence of the magneticfield.

What are the magnitudes of the torques onthe coil in the initial and final position?

Page:159
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